
 

 

 

REASONING QUIZ 

 

Q.1. How many numbers are there between 33 and the one which is 4th from the left end in step IV? 

(A) One 

(B) More than three 

(C) Three 

(D) None 

(E) Two 

ANSWER: D 

 

Q.2. How many numbers are there between the one which is 2nd from the left end and 100 in step III? 

(A) One 

(B) More than three 

(C) Three 

(D) None 

(E) Two 

ANSWER: A 

 

Q.3. What is the position of 88 from the right end in penultimate step? 

(A) First 

(B) Fifth 

(C) Second 

(D) Third 

(E) Sixth 

ANSWER: B 

 

Q.4. Which of the following number is 4th to the left of 88 in the III step? 

(A) 100 

(B) 15 

(C) 84 

(D) 33 

(E) None of these 

ANSWER: B 

 

Q.5. How many steps will be required to complete the given arrangement? 

(A) five 

(B) four 

(C) seven 

(D) eight 

(E) None of these 

ANSWER: A 

 



 

 

Q.6. Which step number is the following output? 

32 27 14 84 why sit not 51 vain 92 68 feet best ink 

(A) Step V 

(B) Step VI 

(C) Step IV 

(D) Step III 

(E) There is no such step. 

ANSWER: E 

 

Q.7. Which word/number would be at 5th position from the right in Step V? 

(A) 14 

(B) 9 

(C) feet 

(D) best 

(E) why 

ANSWER: D 

 

Q.8. How many elements (words or numbers) are there between 'feet' and '32' as they appear in the last 

step of the output? 

(A) One 

(B) Three 

(C) Four 

(D) Five 

(E) Seven 

ANSWER: B 

 

Q.9. Which of the following represents the position of ‘why' in the fourth step? 

(A) Eighth from the left 

(B) Fifth from the right 

(C) Sixth from the left 

(D) Fifth from the left 

(E) Seventh from the left 

ANSWER: C 

 

Q.10. Which word/number would be at 8th position from the right in step IV? 

(A) 15 

(B) road 

(C) hut 

(D) jam 

(E) stop 

ANSWER: B 


